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FINAL EXAM
INSTRUCTIONS:

Answer all questions.  It is essential that you explain the reasoning behind your answers rather than just give the answers themselves.  Be as brief, but as rigorous, as possible.  Use graphical explanations where appropriate.  There are a total of 40 points, with points for each question in parentheses.


You may use calculators, but you need not calculate any numbers.  If you just show exactly what calculations should be performed and how I could make such calculations on a calculator with only the following seven functions: +, -, x, /, ex, ln x, and yx, you will get full credit.

Assume throughout the exam that 

THE PROPER GOAL FOR FIRM DECISIONS IS TO MAXIMIZE

SHAREHOLDER UTILITY.

My Name is ________________________________________________________

I have neither given nor received inappropriate aid on this work.  Nor have I observed any academic misconduct on the part of others pertaining to this work



____________________________________________________





(signed at the end of exam).

I. State whether the following statements are True, False, or Uncertain.  If some parts of the statement are true, but other parts are not, be sure to indicate precisely where, how, and why the argument breaks down.  In any case, even if the statement is true, be sure to explain the reasoning behind your answer completely.


A. (3 points) "Using the CAPM to determine the discount rate appropriate to an investment project is inappropriate for certain small firms, like hair salons, if owned by a single individual with substantially all of his/her wealth invested in the firm.  Such owner-managed firms, which may be efficient because of agency costs and other capital market imperfections, should base real investment decisions partially on unsystematic risk considerations and the risk preferences of the owner."

B. (4 points) "If a real investment project can be completely financed with riskfree debt, as it often can be in a profitable large company with a multitude of investment projects, then the cash flows from the project should be discounted at the riskfree rate in the determination of its NPV."

II. (12 points) The federal government is considering selling off some of the electrical power plants they currently operate in certain rural areas.  Such a sale would make regulated private firms the suppliers of rural electricity in areas where the government now is the sole seller.

You are the financial manager of Electro Power Inc., a firm that produces electricity in several areas of the country.  Most of your operations are in urban areas, but the impending sale has you thinking of expanding into rural areas.  You have estimated the cash flows that you will receive if you buy certain of these rural operations from the government, but you are wondering what discount rate to use to come to an evaluation of these purchases.  You are presented with the following data on capital structure (using market values) and best estimates of equity betas for various firms:

                   Firm                                  
βequity  
  Debt/(Debt+Equity)

          Electro Power Inc.                

0.40         .2

          Electric power industry average    
0.50         .7

          Mostly rural electric producers      
0.90         .4

               (average)      

Assume that all debt is risk free.  Also assume that the current riskfree rate of return is 2% and the expected return on the market portfolio is 8%.

A) Using the data above, what would be your best guess about the discount rate that you should use to evaluate the cash flow that you expect from purchasing government rural power operations?

B) You now are considering whether to buy a particular government power production and distribution facility in Lumberton, North Carolina.  This facility has been identified by a firm you hired to seek out the best rural purchase opportunities.  The Lumberton opportunity is one of three sites the firm recommended you pursue, and you have paid $75,000 for this consulting service.

If you buy the Lumberton plant, you will first put in some new equipment that cost $200,000 and would be depreciated on a straight-line basis over 5 years.  You expect no new investments after this initial equipment is installed.  You expect the facility to generate revenues of $500,000 the first year and out of pocket costs (direct labor and materials, but not including taxes) of $200,000.  You expect both revenues and out of pocket expenses to grow by 2% in perpetuity.  The firm's tax rate is 35%.

Using the discount rate you calculated in A, what is the maximum price you would be willing to pay to buy the Lumberton facility?

C) One of the finance professionals in your office, Cecelia, has argued that an overall discount rate for the rural electric projects is inappropriate.  She says, "A project in a timber-dominated area is likely to have different risk than a project in a farming- dominated area."  Do you agree? If not, why not?  If so, do you think the timber area project should use a higher discount rate, or instead a lower rate?  Justify your answer.

III. (6 points) Onvia.com, Inc. currently has approximately $40 million and 8 million shares outstanding.  Thus, cash per share is about $5.  Onvia has no debt outstanding whatsoever, and total liabilities are about $8 million.  Yet Onvia’s share price is only $1.60, much less than cash net of all liabilities.

A) Is this price per share consistent with the semi-strong form of the efficient market hypothesis?  If so, why?  If not, explain why not and suggest a trading rule that would produce abnormal returns.

B) Suppose that Onvia announces tomorrow that it intends to pay a $2 per share dividend in 3 weeks.  What would happen to its stock price at the announcement?

IV. (8 points) Suppose the opportunity cost of equity capital for all firms in this question is 10%, and all the firms are also expected to pay a dividend of $1 per share one year from today.

A) Consider a stock, A, that has an expected dividend growth rate after year one of 9%.  What will the price of the stock be today?

B) By what percentage will the value of stock A decline if there is news that lowers the expected growth rate to 8%? 

C)  Suppose a different stock, C, has a dividend growth rate of 1%.  What will the price of the stock be today?

D) By what percentage will the value of stock C decline if there is news that lowers the expected growth rate to 0%? 

E) Do the results in B and D suggest that high growth stocks are more risky (or less risky) than slower growth (value) stocks?  Give some intuitive reasons why the results turn out the way they do.

SPECIAL MULTIPLE CHOICE INSTRUCTIONS: The following two questions are multiple choice-- no explanation is necessary for full credit.  You may give explanations if you wish, but you may lose as well as gain points from them.  In any event, the explanations should be no longer than two sentences.  Note also that any number of answers may be correct for a given question, from zero to all.  Indicate your answers by circling the letters of the correct choices.

V. (3 points) You are considering buying the Rice SP Index Fund.  This is a mutual fund that invests in the 500 stocks that comprise the Standard and Poor's 500 index, using the value weights that the S&P Index does.  Rice, however, charges a management fee each year that is 0.1% of total assets.  Thus, every year Rice SP Index earns, exactly, the rate of return that the S&P 500 Index earns minus 0.1%.  Then, if we consider the Standard and Poor's 500 to be the "market" in the measurement of beta,

A. The beta of Rice SP Index will be exactly 1.

B. Rice SP Index will be well diversified with no unsystematic risk.

C. If the world corresponded to the assumptions of the CAPM, you should not buy any Rice SP index, because it does not offer a return commensurate with its risk.

D. In the real world, you should not buy a fund like Rice SP index, because it does not offer a return commensurate with its risk.

VI. (4 points) In addition to the Rice SP Index of the previous question, you are considering two other mutual funds in the Rice "family" of funds as potential investments.  You could invest all of your money in any one fund, or allocate fractions of your wealth to each fund.  In any case, however, you will invest 100% of your wealth in some combination of the three funds. The three funds, their expected returns over the next year and standard deviations of return, are as follows: 

     Fund           
E(r)           std dev

Rice SP Index            9.6%          8.0%

Rice Treasury            2.0%          0.0%

Rice Vespucci          11.6%          7.8%

(You may assume that there are no taxes on fund returns and no transactions costs involved in trading these funds.)

Then, if you are at least a little bit risk averse, you should

A. not invest any money in the SP Index fund, if the correlation between SP Index returns and Vespucci returns is 1.

B. not invest any money in the SP Index fund, no matter what the correlation between SP Index and Vespucci returns is.

C. invest no money in the Treasury fund, if the correlation between SP Index and Vespucci returns is minus 1.

D. invest more money in Vespucci than in SP Index regardless of the correlation between SP Index and Vespucci returns, assuming you do not put all your money in the Treasury fund.

E. invest at least a little of your money in the Treasury fund, if the correlation between Vespucci and SP Index returns is greater than zero.



